ERDOFREE

68% 18 &2 2:BDREE

MERRCIXBEFIVIDIETY  BETRELTAMLERL TS,

EB(6/1~6/5] (405 X 3)
ABBLRERIE. 154EL2-3FETHAZINMEVET O TEREL T,

A X 7K VN &
14 | 234 & & & 14 | 234
9:00HRE = f#E&C| #EEC fiZEEC fiZEEC fiZREC fiZEEC| f2EEC
1 9:10~9:50 HE | LHR | A1 | HE | K1 | HE| K1 [ HE| K1 | HE | €1 | €1
iS5 iS5 E5 E5 E5
2 10:00~10:40 |1~20| H2 | A2 | 21~ | w2 [1~20| k2 | 21~ | K2 [1~20| €2 | €2
3 10:50~11:30 A3 | B3 X3 K3 A3 A1 | LHR
12:45HR&E = f#E&C| #EEC fiZEEC fiZREC fiZREC fiZEEC| f2EEC
4 12:55~13:35 HE | LHR | A4 | HE | K4 | EHE | K4 | HFE | K4 | HE | €3 | €83
iS5 x5 E5 E5 E5
5 13:45~14:25 | 21~ | B5 | H5 |1~20| %5 | 21~ | k5 |1~20| k5 | 21~ | €4 | £4
6 14:35~15:15 A6 | A6 N6 k6 A6 A4 | LHR
2:E8B(6/8~6/12] (45% X 3)
22 FRICHREITY,
H X K /N &
& 2 & & o)
9:00HRE = fiZEEC fiZEEC fiZREC fiZREC fiZREC
1 9:10~9:55 HE | A1 | HE | X1 | BE | K1 | HE | K1 | HE | &1
iS5 iS5 iS5 iS5 E5
2 10:05~10:50 | 21~ | H2 [1~20| k2 | 21~ | k2 [1~20| K2 | 21~ | €2
3 11:00~11:45 A3 nN3 k3 A3 LHR
12:45HRH = fiZEEC fiZEEC fiZEEC fiZEEC fiZREC
4 12:55~13:40 HE | B4 | HE | k4 | HE | K4 | HE | K4 | HE | €83
B iS5 iS5 iS5 B
5 13:50~14:35 |1~20| B5 | 21~ | w5 [1~20| 5 | 21~ | &5 |1~20| %4
6 14:45~15:30 A6 X6 k6 A6 LHR
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A (HEES1~20) £EOEMEITY,
188 (6/1~6/5])
BIEERLSERIL. 154 L2-3FETHEEAEVETOTEELTUEL,

A X 7K /N &
14 | 234 & & & 14 | 234
9:00HR% = f2EEC| i2F&C fiZEEC fiZEEC| f2EEC
1 9:10~9:50 HiE | LHR | A1 HE | K1 HE | €1 | £1
&S &S &S
2 10:00~10:40 |1~20| H2 | B2 1~20| 72 1~20 €2 | £2
3 10:50~11:30 A3 | B3 K3 A1 | LHR
12:45HRE = fiZEEC fi2EEC
4 12:55~13:35 HE | k4 HE | K4
&S E5S
5 13:45~14:25 1~20| w5 1~20| k5
6 14:35~15:15 X6 X6
2:E8B(6/8~6/12] (45% X 3)
22 FRICHREITY,
A X 7K /N &
& & & & &
9:00HR% = fiZEEC fi2EEC
1 9:10~9:55 HE | k1 HE | K1
&= &S
2 10:05~10:50 1~20| w2 1~20| k2
3 11:00~11:45 X3 A3
12:45HRE = fiZEEC fEEEC fiZREC
4 12:55~13:40 HE | B4 HE | K4 HE | €8
&S E=5 &5
5 13:50~14:35 |1~20| H5 1~20| 75 1~20| €4
6 14:45~15:30 A6 K6 LHR
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®¥ (HFEES21~) £EEDOFMEITT
;BB (6/1~6/5] (409 x 3)
ARBESBEIG, 1445L2- 35 £ THMZINEVET O TEBEL TS,

A X 7K /N &
14 | 234 & & & 14 | 234
9:00HR% = fiZEEC fi2REC
1 9:10~9:50 HE | k1 HE | K1
&= &S
2 10:00~10:40 21~ | w2 21~ | K2
3 10:50~11:30 X3 A3
12:45HRE = f2EEC| i2F&C fiZREC fiZEEC| f2EEC
4 12:55~13:35 HiE | LHR | B4 HE | K4 HE | £3 | £3
&= ES E5S
5 13:45~14:25 | 21~ | A5 | B5 21~ | k5 21~ | €4 | £4
6 14:35~15:15 A6 | A6 K6 A4 | LHR
2;BH(6/8~6/12]) (455 X 3)
22 FRICHREITY,
A X 7K /N &
& & & & &
9:00HRH = fEEEC fEEEC fi2EEC
1 9:10~9:55 HE | A1 HE | K1 HE | &1
&S &S E5S
2 10:05~10:50 | 21~ | H2 21~ | k2 21~ | &2
3 11:00~11:45 A3 k3 LHR
12:45HRE = fiZEEC fi2EEC
4 12:55~13:40 HE | k4 HE | K4
E=5 E5
5 13:50~14:35 21~ | w5 21~ | k5
6 14:45~15:30 X6 K6
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